HW - BALANCING II

NAME ___________________________


1)  ____ HgO (  ____ Hg + ____ O2
2)  ____ Na + ____ CuCl2 ( ____ NaCl + ____ Cu

3)  ____ Ag + ____ Cl2 (  ____ AgCl

4)  ____ Cu(NO3)2 + ____ NaOH (  ____ Cu(OH)2 + ____ NaNO3
5)  ____ F2 + ____ AlCl3 (  ____ AlF3 + ____ Cl2
6)  ____ HgC2H3O2 + ____ K2CO3 ( ____ Hg2CO3 + ____ KC2H3O2
7)  ____ Al + ____ S8 (  ____ Al2S3
8)  ____ C5H12 + ____ O2 (  ____ CO2 + ____ H2O
9)  ____ C4H10 + ____ O2 (  ____ CO2 + ____ H2O
10)  ____ NaBH4 + ____ H2SO4 (  ____ B2H6 + ____ H2 + ____ Na2SO4
11)  _____ NH3 + _____ O2 (  _____ NO + _____ H2O
12)  _____ C6H14 + _____ O2 (  _____ CO2 + _____ H2O
13) _____ Cu + ____ HNO3 ( _____ Cu(NO3)2 + ____ NO2 + ____ H2O
14)  iron + water ( magnetite (a form of iron oxide: Fe3O4) + hydrogen gas

15)  octane combusts in oxygen to form carbon dioxide and water

16)  benzene (C6H6) reacts with oxygen to form carbon dioxide and water.

17)  iron  + hydrochloric acid (  iron(III) chloride + hydrogen

18)  copper + sulfuric acid (  copper(II) sulfate + water + sulfur dioxide

19)  cadmium sulfide + iodine + hydrochloric acid ( cadmium chloride + hydroiodic acid + sulfur

20)  hydrogen peroxide reacts with cerium(IV) sulfate to form cerium(III) sulfate, sulfuric acid, and oxygen gas.
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